$347 104852k L RFEP RS
3 AATH

T BRERATLEA S
g forr s b 6 R 55
U S N A E T N
5 8 102 B4 103 B4 104 EARE
‘ 158y 158y 188
> RUARAR SR AR 4 F 2 & 43. 8% 41. 3% 34. 5%
ARG RRAL S 3 AR F AT RS (100% 100% 100%
FoEw pe 3010 & = F 100% 100%
2eh g 120 e 1 1100% 100%
RAWEHIERE |5 100%
I p 102 8 & & 103 8 & & 104 8 & &
JN—:70% JIN—:77.78% 7[N—:50%
g4 &5 /\PU:43.75% /[\P4:50% /\PY:33.33%
= & 5 0% = & % 0% = & % 0%
- r g;oj*—‘/:} /[N—:100% /[N—:100% 7/[N\—:100%
- CER B R /NPU:100% /INPG:100% /INP0:100%
= & 5 0% = & % 0% = & % 0%

P2 A pHPFIRRLSFT M I OF 1048 2R 4237586

45 pFI HKTHS (10458 E 83D

5 . 102 SR 103 SR 104 SR
' 5188 5188 5188
FARgEge 64. 4% 68. 3% 61. 8%
= A PR, 4.1% 6. 3% 10. 9%
B g 17.8% 15. 9% 12.7%
CER TR 13.T% 9. 5% 14.5%

(O goAfs g0+
(Z)F Ay L 0

(Z)F AV RS2 paim it 0 4
#2p4l ()M E I S 2 A,
7 1038/ 1 LI SLE 50

A
10458 &/” 1 3> $4cAdki 60+

(I)RFBFFF__ 0 A (it & kRLRNEEF S L b
6 -] L b gulgﬁg;{eﬁ FEA A Eﬁﬁt—‘g)

It

()3 e e 5 H
103%3& 1 3> 2;’“\-5[/(&’); 50 2

10488 1 3> %4 A8KF 60 A

SRR (JAEER_L S Fdecdg B0
R (= )ﬁpf BPRZ 3 100 %

(J—iﬁ’*‘#) - P B 4 bt I S 0

(Z)5 2 7rel 5 * BiF ¥ 100 %

(M) e RIERA S A

1038 1 Ho e L I 50 A

1045&R 1 % Frei8ki 62+

(%]




SRERITARX | &

(OIEEMEEEBRE EESEBIFEE ARG - A - ZEMTREAES  MHIEE

KB EARTIED)
10358 1 3> %:Qﬁ’\ﬁz’ﬁ 50 8
L= ) 10488 1 # > %4 A#} 59 x
*EARERRL (BU/NEFER -~ BT ~ S SHEERCEME TR B2 E YRR
D2 /NN E A T o WEAZPER /D LN S -
(CORPEFR AT F:_100 4
()% & T9HA CPR 58E%:
103%&4% 100 % 104524 100 %
L |FEETEE (Comasprosgagcl038ER 3 < /p
# 04528 3 4/p

He nt

TR
A EER ) RT

http://www.sdes.tn.edu.tw/modules/tad_evaluation/index.php?evaluation_sn=19

FoWEPAREP

AT R s 2 4 AR IR E T ET
e (£miE5) e rrn) |4k | &4
R (194) |@I04FEREL R WL TR Frilipeder a52eg8 |10

103 BAEfE 7 7% 5: (457)
LI 3 4c 0. 1%2 T > @ 44
023511 0.5%LL (&) » 153 77 °
o340 0.7%LA N (&) » 15257 «
(14 4 1% (5 ) @14 -
M 5. 34 1% (3 2) 70
AN
@104 & & & &2 vt 5 103
BER2ZAE: (44)
LI 3%t > B Am e
028/ ) 2%-3%(F &) > 53 77
O3V 2% LN (A E) 5297
o4 FHIEEEE 11/ 0.2%(E) BA
TS E] A
M 5. 3 4e 0.2%2 (2 )0 70

AN

FEPE

Q@045 EREE 2 kit F %

(27.2%)22 103 8 & RiEE 2 W

L %L (25, 4%)2 £ B L A 4

1.8%> 18 0 A o

@104 5 & BB Bt & 4

(10.9%)¢ 103 § & B &2 &
WAL (6.3%)2 £ B L 4

4.6% 120 A o

Q@iudHi-* 54 2R
B

373 ik M EE
b I HE

2. BB AR G RAE R~ Bk
%i:?i‘?“ o

3. - B Hp R - ) A
FA7p g1, &2
BR =~ § FLo

4, g FRPE[E 4 R
miF s TR HEE .

o

i




W& &gy fpE
¢
0. % EALT FORPHL i B
CEERY PR
10, § * 4R P -
11. 426 i

@~ % fjit:

[BE ag & LA U N S U 0
MAT T2 N R
foBd o Flida g 5
F8ORF 2 Bia = Bop
Lm oAt i e

2. ¥ Alp& B fE s
TRERER =R 3
g4 =gk ak s
P ERGFE®EPF Lo
de b REAK PR
g B xBiia
i 3E B
W

35§4ﬁ§ﬁﬁﬁ5%
B RE 3 &*M«/r’ﬁ?
A %ﬂ?i%ﬂff
2 7R A5 o

4, #Ae g R F 4§ S
B G A2 A B|Ed
i’.«;?ﬁ,:&r]:‘%igfé\:&)@%i
Bk e

AR A HE (16 4)

.104 BER/TI (R )RA 2
?103%‘34}@: e (F- )z £
4’1: (5 4)

M 1. 4p e 2% 3 4 6%2 7 > 85
AN
[12. 3 4c 6%-8% T » (8 4 4 o

o3.3% 1 8%-10%LLF » 15 3 47 »

5,

X

[, 84 10%-12% 7 > @ 2 4 o
(5. 8 4 12%-14%217 > @ 1 4 o

(6. 4 4c 14%r2 2+ > 8 0 4 -

QU4 E=ER | TS 2
2t F 5 55, 6% 103
BER | wALS A R
F 5 62.5% LB 5T
6.9% FH e o

@iaf vk .

137 B AR it
Foapild o R R P
3010 ~ = = = ¢k igpt
120 o~ 1 E 3 F TR
% o

2. A FEEARA e B 0 B
BAEGHBEIIM B

15




ELARE & TR
PR HRBIE L AT o
4% EALH TR PRILAL
S N Y
s e g 85210 2
R S
'ﬁ-%ﬂh)’ﬁfr ‘* o
5.3 >R Q*P\'

5 o
6.5 B 5 AR A 0 A
NS SN - L

R B Ed o
T RFIRE s 2 00

@ & fjif:

I &g i fdadAp i 2
A R 0 104
FERIIZ103F#
Rolwald 3 2t KL
BLTE6.9% BRA
ﬁ%ﬁﬁii@&%%

FEj Hoasxo

7 %z?w‘ R R

FREEHE A4

P RBISTIEA

%5
2.m th
‘ri

1009% > % A REIE R L

SRE- & =7 AN L
3T o
IR SRS TRE L
ey g o e R
NI MAIEIHT RS
R4 3 g o
3. e & FE € RS
=g iali ’}3 RERE 3
#ﬁa“ F = /gﬁ 4 B Il% o
Aﬁ“?ﬁizﬁi (- ST
H AR e 0 UTE R
LA A R ek o

C RS (144)

(34)

M 1. M*5m<g>:43»o

02.55%-65%() » 152 4% -
03.65%-T5%(%) » 151 43 -
‘:‘4. 750/I,Z J’ ’ ]4 0 A,\ o

@104 F &R | v #hs F
% 33.33% > (B34 o

@i F Ros:

1. e & iR 2R AR
ﬁﬁ)‘%}*%wﬁ”?,r
# o

14




2.3u8 [Ri6%7=. =

:‘—frc'f"’ ’ fg?:—.%ﬁ;é

s ARGE = A B X
B I

3. P RS FETIER
#HIE T gﬁai;’t_ %
Za AT kR Y RS
f%q* I—%w/ﬁ”? @C%T
2, Toarooke

73 22
* 7 2T

o e
4.¢ 37 FEIREFT
442%5-}%&1 PR T
FARAZ WL K
T oo TGS EHE
%W & F A
5.1 * B H T 2 FLE €
FE R ikt §
VR FLT chE B M
PAEL T M E AT
BT o
6. % 1 5. r/—*vaalfa%‘
’*'L’%WE@:BN,?? °
THEET 3 3 BeR
*%%Eﬁa’ﬁ&ﬁ
SRR R o TR
PegegEfEd o X
fie & ¥ & B udiofe
CNE RS St
ERLE-r 3 R R G
Sk §rL R Rk %
FAF o
8.t & 7 Fsakgom A
kgD FT I o
@ & fjif:
L.y~ ~47 10358 & 8| w
iﬁéﬁ‘: F % 50% 104 8 &
‘1-%151' L 24
33. 33% > BIgd A
P Sv R TR A S
SEEGEIA I S
r?:rﬂ-_o
2._F AL B E RN
Z 3 100/ B 05

i,:L




AT A1)

TR AL T 1

10

>R (0
FE* E) (11 4)

CARREN SRR R B

REERHL AT
%R P LR T
RTE T oo LAt IR
e d TTER FUREI
ERE¥FNFREL LB
FRJRT S5 RAR
TIARRFRFLL
e o 3 KBRS 2
7‘—"—'—?\79\3\_&[&’# &Eﬁﬁ
A P RAEIRES
# & Frapry £ R
PR EE 100% 0 14
JI$3 2 pE2FET ¥
538 BRI o

AR I S R

R L B
M

)
R

ERAE RS 28 Sl

B0 A R E
FIEFE 2 & £k
HE 42 K E 4
?/I—;- 7 %— s 1] j;l};»ﬁ F
) HT B A FF
A PR ipd Foens

/24: 24 Cl.%- (o ets lﬁ}ﬁi o

[
s
=
I
;‘3\
w
\:"ﬁ¥
G-

10




ey (287
Falrie) (1)

2. A RPETFHAT A
i3 THAEER,
PESEERFHE S
FV gy ipMaw-

KT EisE HE R
EEEY Liapr K
g o

4. By ~ CRRY
EE 3

. R ELRT I
SEAE 0 JEd R
BExranfd el
THBRED R Ao

6. 75 W# " iamik

B o e EA kT E
¥R ERAEE L A
A 3 R IR E

R R o

10

Lz #8Rp%s F
2. 7FL 2P R TR

3. 2KV AKIRER
FEIEREFR2RYT R
B2 REEmPd N
f8 0 TARIRES S aE 82% o
4. 8 4 2238w & $¢ CPR

5. > E 4 B L
@+ 100% e

6. 72 AED #cfr A= ¥

10

2 fo g4
(74)

LA fes BB Rk At -
b o B A A
ST F R IRIE R




iﬁﬁ% AT B R IR

Ak B iR R F A e F R
JRAR o

2.7 E = 5 2RI
§8 AL ¥ BRAR o

337N - HnF AR L
30 Ak IEFFES
30 4~ 4 -

A FeRfES 5 g o582
A AN

5. RITR KT £
E*%’HWW§4i
3;43 ,VFP °

.3 X EFE R BRW
RS R RS RS
HE S o

)\’

Th

FRpF w85
ERuEEHELAILR Hasy:

(2 FHHELRER) WHRR:

wHL R

I A RP

* PR
() ERERGERTUIA RR= [REERR I BREAEE]) | [RGEm 22 8]
x100%

(= DBRAR G Ha AR 4 7 R0 5 AT 1 5 = [AnéFteins 7 29 fORF AR eE 2 #] / [
b 2 g 4 ) x100%

(204 7 R e md - (W pFemg 2 4]/ s £ 52 4] x100%
(z)RE* 30102 5= [3010 5%« #&) / [ £ & + #]) x100%

(2 )= *hipds 120 2 & 5 : fhdp R P B 2 PR PR dofie & 7 g i
TR EZFRS A ES  FAR S I R AN SR KRR BT E T
120 A 43 -
GOARFEHBRE S F= [ EApFLins 2 283 &] /(i) 7 LARFS

4 5 4 k] x100%
=~ O



()82 8% = [$HaF 2 5]/ [F2 84 %] x100%
(Z)F 2804t 5= (S 4FRkag 2 L] / [#H6 5 2 58 < 8] x100%
()B4 5 p Lo/ 7 = [545pR7 «&kﬁc]/[ﬁ* 4 k] x100%
o REME TR FREFLARTING AR RRP I KT NREE TR
EXSMN7 e
VU ~ TFHfE 4
(= ) FohIRF 5= [ﬁ?ﬁv&aﬂwﬂﬁzl /(824 %~ 8] x100%
CGhBRFFig 7 S FREP > 2 p FARFL)
(D) AZEE Eﬁﬁﬁé‘éé§éﬁe@nétt?— [ ZEAEERTEEE SRR [ [B2448 A#] x100%
T I0ABEREA S P TEL G ABATFHF AT 105840 30 p 502 itk
%iﬁ_)l °




